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@ 2HAMKyZ
<HBPE>

~29 |30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80~ | AFt %;f
b

7% 1 0 0 1 5 6 12 2 26 92.9
7% 1 0 0 0 1 0 1 0 2 7.1
75 % la 0 0 0 0 0 0 0 0 0.0
75 A b 0 0 0 0 0 0 0 0 0.0
754 IV 0 0 0 0 0 0 0 0 0.0
754V 0 0 0 0 0 0 0 0 0.0
X 0 0 1 6 6 13 2 28 | 100.0
AATRE 0 0 0 1 0 1 0 2 7.1
AATRER(%) 0.0 0.0 0.0 16.7 0.0 7.7 0.0 7.1
<>

~29 [30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80~ | A=l tzjé

b

75 1 0 0 0 0 1 0 0 1] 100.0
VA 0 0 0 0 0 0 0 0 0.0
75 % la 0 0 0 0 0 0 0 0 0.0
75 % b 0 0 0 0 0 0 0 0 0.0
VA N\ 0 0 0 0 0 0 0 0 0.0
754V 0 0 0 0 0 0 0 0 0.0
ZHEE 0 0 0 0 1 0 0 1] 100.0
AT R 0 0 0 0 0 0 0 0 0.0
BRTRAEZE (%) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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@ LMD

<BM>

~29 |30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80~ | AFt tff

b

77 A& 1 6 4 4 6 8 3 0 31 96. 9
7% 1 0 0 0 0 1 0 0 1 3.1
75 % la 0 0 0 0 0 0 0 0 0.0
75 A b 0 0 0 0 0 0 0 0 0.0
754 IV 0 0 0 0 0 0 0 0 0.0
754V 0 0 0 0 0 0 0 0 0.0
X 6 4 4 6 9 3 0 32| 100.0
AATRE 0 0 0 0 1 0 0 1 3.1
AATRER(%) 0.0 0.0 0.0 0.0 1.1 0.0 0.0 3.1
<>

~29 [30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80~ | A=l tff

b

75 1 0 0 2 0 0 0 0 2| 100.0
VA 0 0 0 0 0 0 0 0 0.0
75 % la 0 0 0 0 0 0 0 0 0.0
75 % b 0 0 0 0 0 0 0 0 0.0
VA N\ 0 0 0 0 0 0 0 0 0.0
754V 0 0 0 0 0 0 0 0 0.0
ZHEE 0 0 2 0 0 0 0 2| 100.0
AT R 0 0 0 0 0 0 0 0 0.0
BRTRAEZE (%) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




